L apel LULL . WV l~"aVaAY
1. caet g/ ' 2. epysiftsel Fifaam e 9
Roll No. Question Booklet
Serial No. (9 5 3 1 1 3
3. OMR U84 9@ 7% / OMR Answer Sheet No. % 4 oA °i°f #%4 / Candidate’s Full Signature

IR Ed WHEY [ As given in Application Form
B-feferr=b9-99 %3 / Invigilator’s Signature

AR el AHIE B T AR Sl GGG B (FABIAT WTE ) EASTCOATT [CH a1

At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's
portion) to the Invigilator.

g eppeffeem (uib 150 B aufe afedin o wim | omeR Rl e Rew : Renl, Restn a3t froiei-111(a)

S (b | el 30 6 o wen | Reiern-a 8§ o wmeg — g, e, e, e, ofow, sewd, corra @t

B | eicoie oA 30 B e Wiz | @S S SIEvEs SPIE Sy SRl ReIE 30 B it was o @3 e e

Sr et 30 6 2o, (il 60 b 2icae Saw froo 21 Rewim qft Rens fee — R i) - 1S ¢ few a3z Ko

111(b) - FaTEfH | s Rt 60 B 2 @i 1 «@=wd wa@ele Sl @ @@l R sa $aEe |

There are 150 objective type multiple choice questions in this Question Booklet. The questions are made of the following
three sections : Section-I, Section-1l and Section-lli{a) OR Il(b). Section-1 is of 30 questions. In Section-ll, there are”
8 languages — Bengali, English, Hindi, Nepali, Oriva, Santhali, Telegu and Urdu. Each language is having 30 questions,

The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and the other as

Second Language having 30 questions as per his/her application form. Section-111 is divided into two sections — Section

lll{a) - Mathematics & Science and Section I1I{b) — Social Studies. Each section is having 60 questions. The candidate has
to choose any one subject as per his/her application form.

oAl dice Tl feicigd Swn 0o G | ATE 908 W 1| ©9 BWLAA T (B1 (oS WIHL iR oFrw v
Aqwidice efefenebom sl

W OMR Swn %8 gat erejfast fica cre 7 a3 wfefeetre e $im
sieba et arae oy ewam :

The candidate has to attempt all sections, Each question is of one mark. There is no negative marking for wrong
answer. The candidate has to hand over the OMR Answer Sheet and the Question Booklet to the invigilator and
he/she will take back his/her portion of Admit Card from the invigilator while leaving the examination hall.

epeffFer el Mo ere e e :

The Question Booklet is made up of the following sections as tabulated below :

(G 204 AT / No. of Questions-150 W4 / Time-90 Minutes 719 / Full Marks-150
et / No. of Question Nos. Page Nos.
Section ‘-3?[ / Contents Questions From To From To
m | Pl o P 30 1 30 3 8
Child Development & Pedagogy
(I1) OFl / Languages : For Language-1 | For Language-2
From To From To
?"E:T% Bengali (@ o s 30 31 60 61 90 9 14
gzaret / English S 30 31 | 60 | 61 | 90 15 20
/ Hindi St G 30 31 60 61 | 90 21 26
N / Nepali 30 31 | 60 | 61 | 90 | 27 32
fasty wrat ) :
efSHl / Oriya 30 31 | 60 [ 61 | 90 33 38
GG / Santhali | et 2Y two -0 31 | 60 | 61 | 90 39 44
(OTA1® / Telegu  |FirstLlanguage& 30 31 | 60 | 61 | 90 45 50
®% / Urdu Second Language] 30 31 | 60 | 61 | 90 51 56
(I11) III(a) e @ fAam
Mathematics & Science 60 91 150 57 67
OR
III(b) FITAUTT / Social Studies 60 91 150 68 80
eiafer Tl @ 2eA18] S AGT Gy @2 TSI OTH 70T, 0T X 84 (RQT1
Read the instructions in Bengali & English at Page No. 84, last page of this booklet.

epo{fet (Rt T @t R

TEAR HERE TO OPEN THE QUESTION BOOKLET

577432 [ P.T.O.

Tear here






. Section - I
Child Development & Pedagogy
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There are 30 questions in all in this Section.
L
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All questions are compulsory.
Effective know about a
student is

(A)
(B)
(€)
(D)

What will you do if a student is
repeatedly teased . by  another
classmate ?

(A)

way to

evaluation
play
visit his home

observation.

Punishment of the classmate
(B) Separate sitting arrangement
(C)
(D)

Counselling of the classmate
Call the guardian.

How can teacher identify brilliant
students ?

(A)
(B)

On their examination result

Observing their classroom

behaviour

(C) Gcttiﬁg family history

(D) Based on the relationship with

other students.

What is the best way for a teacher to
maintain discipline in the classroom ?

(A) To assign group tasks

(B) To lecture about the need of
discipline

(C) To lodge complaint with the
headmaster

(D) To impose strict punishment.

[ P.T.O.



5. fFrndio qreforg s 6] 5.  Cause of failure of students is
(A)  E A Y : * (A) lack of memorization power

(B) not to strive for assimilation
(B) SIS A0S (58] ~1 3541
' (C) absence of frequent tests

(C) N I A A T ]

(D) not to follow the teacher.

(D) PreFes sepret =1 2 6.  Who is known as the father of child
6. frurefes fre TS I T 3 2 centric education ?
A) esw (A) Dewey
(B) TR (B) Froebel
©) iR (C) Montessori
(D) w0 | (D) Rousseau.
7 ‘{FW oI e A (F P 2 7.  Who conducted the factor analysis of
intelligence first of all ?
(A) TG
(A) Thurstone
(8] e (B) Gardner
(0L o (C) Carroll
(D) AR | (D) Spearman.
8. ey frex o ST, plact 8. Reading of literature is essential for
e children because the child
A4) @M= qﬁﬁ | . (A) acquires knowledge
(B) =1 frefirs ] (B) develops imagination
(C) N =r=7 wirre b (C) acquires difficult words
(D) bfE@eren 2y | | (D) builds character.
9. frema wwEpe afetaasy e vy e 9. Individual differences occur among
I ? : children due to
(A) By IMefoq Frace (A) heredity only
(B) ¥y A F@eTa s : (B) environment only
(C) TC ST P - (C) growth

(D) combination of first two.

(D) SN FREL NG |
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What may be the probable cause of
mistake in writing the same spelling
repeatedly ?

(A) Learning disability

(B) Low vision

(C) Tendency to commit mistake
(D) Low intelligence.

As a result of cooperative learning
among the learners

(A) learners become self-reliant

(B) all learners learn equally

(C) learners' motivation declines

(D) they do not feel the needs for

teachers.
Which one is correct ?
The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment .

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be

anxious.

The way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.

[P.T.0:
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According to Vygotsky

(A) culture is the outcome of
education
(B) culture is the tradition of

education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor

of learning.
Modern education systemn is
(A) curriculum centric
(B) child centric
(C) bookish
(D)

What is meant by concept ?

teacher centric.

(A)  Specific knowledge
(B) Judgement

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A)  Infancy

(B) Late childhood
(C) Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A) language
(B) isolation
(C) observation
(D)
Concept formation depends on

independence.

(A) learning
(B) transfer
(C) vision

(D) imagination.
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What
generating motivation among
learners ?

is the duty of teacher in
the

(A) To advise the learners from time
to time

(B) To rebuke occasionally for
mistakes i

(C) To accept the level of success as
one can attain :

(D) To maintain very high standard.

How can the interest of the learners
be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners

(B) control anger of the learners

(C) keep the learners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to
inclusive education ?

(A) Right to Education
(B) Prevention of Child Labour
(C) Prevention of Corporal’
Punishment
(D) Custody of the Special Need
Children.
What is the meaning of
comprehensive evaluation ?
(A) Evaluation of the whole
curriculum
(B) Evaluation of all-round
- development
(C) Evaluation of the whole
intellectual ability
(D) Evaluation of all students
simultaneously.
[PT.0:
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Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of spatial
reasoning.

Which one of the following is not

related to creativity ?

(A) - To think quickly

(B) To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent
of student's learning readiness ?

(A) Spontaneous interest

(B) Correct answer to the teacher's
question

(C) Requesting teacher to dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the
students have committed error in
answering a question. What may be
the probable cause ? :

They did not pay attention in the

(A)

"~ classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it

was important.
Sometimes the first generation
learners may be inattentive in the
class, because

(A) there is none to help at home

(B) has to perform many household
work

(C) there is lack of effort in studies

(D) difficulty in understanding the

teacher's language.
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SECTION - 11
Language - English

There are 30 questions in all in this Section.

All questions are compulsory.
Part - A
Direction : Read the following poem and answer the questions (31/61 — 37/67) that follow :
Futility

Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
__ Or what made fatuous sunbeams toil

To break earth's sleep at all ?

31/61. " what made fatuous sunbeams toil ..." is an example of
(A) synecdoche (B) periphrasis
(C) personification (D) simile.
32/62. The general tone of the poem can be described as
- (A) sad and tragic (B) full of mirth
{Cj satirical (D) humorous.
33/63. The meaning of the line "Woke, once, the clays of a cold star” is

(A) broke the cold star into pieces”
(B) brought life into the cold planet now called earth
(C) made the clays of the planet

(D) madea cold star warm.

577432 ' [ P.T.O.



I anything is capable of awakening "him" it is

(A)  the warmth of the sun (B)  the sun alone knows

(C) the ciaylight (D)  the morning snow.
35/65. The poet "urges to move him into the sun " because

(A) it is warm : -(B) it woke him once earlier

(C) it is day-time (D) it will ease his pain, '
36/66. The sun "always" woke him in

(A)  England (B) India

(C) Italy (D) France,
37/67. "Was it for this the day grew tall" — is an example of

(A)  metaphor (B) metonymy

(C) chiasmus (D) alliteration.

Directions :  Read the following passage and answer the questions ( 38/68 — 45/75 ) that

follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve

is Franklin W. Dixon: the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published

influential. He was a Canadian journalist by the name of Leslie McFarlane. A few years
later Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt
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had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children's collection.
Ironically this decision actually triggered the sales of the books. |

Regardless of the controversies about their literary merit, each series of books has
exerted an undeniable influence on American and even global culture.

38/68. Some teachers and librarians objected to the ghost writing series because they
(A) disapproved of mystery stories
(B) thought that the books were too expensive :
(C) believed that the books were not quality literature

(D) disliked the business practice behind the series.

39/69. Which of the following describes the author's attitude towards the series ?
(A) Balanced and respectful (B) Doubtful and critical
(C) Hostile but forgiving (D) | Overwhelmingly appreciative.
40/70. A ghost writer is someone who ‘

(A) writes about ghosts and strange events
(B) does not receive credit as an author
(C) invokes spirits anid supernatural elements to write

(D) takes lot of money for writing.

41/71. What does the word 'surmised' mean ?
(A) Guessed (B) Qﬁestloned \d
(C) Knew (D) Surprised.

42/72. The Hardy Boys and Nancy Drew series were created on the idea that

(A) mystery books for adults are popular
(B) children enjoy reading about characters they can relate to
(C) girls and boys are not interested in the same thing

(D) the writer needed money.

577432 ol 6001 - PO,



43/73.

44/74.

45/75.

Direction :

46/76.

47/77.

48/78.

49/79.
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According to the passage the Nancy Drew mystery series was introduced in

“A) L9827 ; (B) . 1925

(C) - 1929 : (D) 1‘930.
Which would be the appropriate title of the passage ?
(A)  Ghost Writing : A Way of Life
(B) The Dubious Yet Profitable Practice of Ghost Writing
(C)  The Hardy Boys and Nancy Drew : A Ghost Writing Series
(D) A Critique of Ghost Writing.
Who was the real writer of the series according to the passage ?
(A) Carolene Keene _ (B) Franklin W. Dixon
(C) Leslie McFarlane (D) Hardy.
Part - B
Answer the following questions by selecting one option :
Effective learning takes place when the students are
(A) quiet ' (B) obedient
(C) interactive (D) preparing for examinations.
A teacher can best develop communicative skills with the students by
(A)  encouraging to speak in that language continuously
(B) giving dictation
(C)  correcting grammar and spellings
(D) | giving students homeworks in that language.
While communicating ideas in written form grammar has
(A) akeyrole (B) norole
(C) liberal role (D) none of these.
Key principle of language teaching is
(A)  to motivate the students in the process of learning
(B)  to facilitate the learner-centered classroom activities
(C) to maintain discipline in the class

(D)  to show the teacher's mastery over language.



50/80.

51/81.

52/82.

53/83.

54/84.

55/85.
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In a language-teaching class the primary skill(s) to be developed in children is/
are ¥

(A) Listening (B) Speaking

(C) Listening and Speaking (D) Writing.

A multi-lingual classroom is

(A) students with different mother tongues

(B) students coming from different regions

(C) students with different cultures

(D) students with different social baékgrounds.

How can language comprehension and proficiency be evaluated ?

(A) By evaluating all the four skills in different periods of time throughout the
course '

(B) By evaluating all the four skills at the end of the course
(C) By evaluating only reading and writing

(D) ~ By evaluating only speaking and listening.

What is the main challenge of teaching 1anguage in a diverse classroom ?
(A) Facing slow and weak learners

(B) Facing a mixed-ability group of learners

(C) Facing infrastructural problems

(D) Facing the good students in the class.

While using problem solving method the teacher should

(A). participate actively in the process

(B) encourage divergent thinking

(C) ask the students to consult their parents

(D) look at the students' activities from a distance.

Gender stereotypes can be discouraged by

(A) helping the boys to accept failure

(B) encouraging girls to take up sports

(C) asking girls to arrange for the snacks in a class picnic

(D) encouraging girls to take up challenging jobs in life.

[ P.T.O.



20

56/86. Abstract ﬁqtelligence tests
(A)  verbal skills
(B) manual dexterity
(C)  numerical ability
(D) manipulation of symbols.
57/87. Today emphasﬁs should be given to
(A) electronic gadgets used for teaching-learning process
(B)  chalk-and-talk method of teaching-leafning process
(C) iearning through foreign collaboration
(D)  value based teaching-learning process.
58/88. ‘Overlearning' is the term used to describe
(A)  practice that continues after a perfecf recall hés been achieved

(B) the practice of learning over and beyond the requirement of a particular

class / age
(C) the practice of spending too much time on studies

(D) the practice of overburdening the students with tasks.

59/89. Tasks to improve spelling should not include
X (A) reading (B) listening
(C)  writing _ (D)  use of dictionary.
60/90. Giving dictation is not useful for

(A)  learning the correct form of the language
(B) developing language skills
(C)  developing short term memory

(D)  helping students to spell correctly,
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Section - I1

Language - Hindi
=g faum & F@ 30 WA & | Woft wew atfrard €

There are 30 questions in all in this Section. All qﬁestions are compulsory.

frdwr

Part - A
frefafad T H1 TS SHF SUR W T ey (99 qen 31/61% 39/691TF )
F I F foru god 3faa fased 9T :

forua &1 T HUA 95d I & {5 forma & fom wdAa & A e T | 39 &G | |
S T # fF SR % o dre) wWgd AEfEs W e ¢ — AR I8
e § S SR T 9 # A 8 o uR 9 A 8 | IO & |1 T8 91 @
Fifeem # FF S T WAt Sad s won e @ e fe 5 T st g
Fored areafasitar ot € oi fored oo 49 % W@ @el g S € | qA H AT E/
TRV TE A 5 9% 9gd F9 a9 oHa 8, S g A ¥ g8 5gd A ¢ S I/
reRiamd ITHT Argal § HEl 981 g © | 30 3G 91 F T @A Tifen fF 3w e WSl
wmﬁ,ﬁ%mwwﬁmmwaﬁ,ﬁaﬁmvmﬁm
SEvE ¥ | 9% W UOR, 51 F9 79 § o o $9 wHN ¥ — TR Y, TER ST,
Fai Fd, TR W, wER oY 3 WTeT ) g, gAR 9gd § sy, o o T @
o1 T SEYIHT FHE HI § R T AT e B AW @ Aiey | o | B S
mﬁﬁ%mwwgﬁmﬁzm%mﬁmwwaﬁtm
oq1 e B 9 2, Frs SR wgd & o off 1S T € S staw ved W we /R
a1 1 Tt AE FR HEAl | TS 1 Ag e o € v R, 39 9% W e o
S 1w e e § S el g # ek R & o st T o Fered §

31/61. WS FE1 Siad wda FHE =qed ¢ 2
(A) SRS B)  A9aqu
(C) AT (D) foenfaamgel |
32/62. cA-watR % fow ArEwas &
(A) T A T F GEHE FC q91 e T S Al § HHANGAR FAER FA
(B) 3T HIfE H T
(C) formar 1 R ST

(D) 3T e AW @A |
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33/63. AHHEER F fou siavas &
(A) 3meR-wHter (B) A9
(C) wHfgs Td=ar (D) zAH A G

34/64. 'Wﬁf mﬁu-fﬁﬁa €

(A) T + FETIF (B) I + avgSH

(C) WXH + v+ (D) H + IAEVEH |
35/65. 'SfAM’ wisg # IuE W1 wH-1 fawew @Et € 2

a) 3y + A | B) H+ ﬁqﬁﬁ'

) &9+ $9q (D) S| + 3 |
36/66. T T 1 UG IeE T

@ B) faar i

(C) 3MTH-HFieT 3R T (D) fom@ #1 wEw |
37/67. T TR | A H1 ¥47 &y & e & 2

@ = i | B) A

(C) Heheq . (D)  sAfvmmE |
38/68. ' ATH-HWHR' | wgw WHE ¥

@A) FHUR B T

(C) dcgzy (D) 35 |
39/69. 'weA’ = & fauiad® g €

(A) A (B) e

(C) Hireemet (D) TS |
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fdwr:  Frefafea vaie vee 39% smur W fe T g ( w9 §@m 40/70 @ 45/75 9% ) ¥
I ¥ fore ward sfem feew 9 :

“or| el Al # g | g,
T MRt H S o @ E |
HAA STEATIA TR S A 2,
3T AT FH 37 @ € |
FHeql | A q% ISd W@ T,
el | gt ged @ qu |
Hd TR N H I A s
3T U T AEE 37 W |
40/70. el g H 99 1 g o § 2

(&) 7Y H 9 B B) wRgd g

(C) =@ Bl (D) feamE g
41/71. Hfa AN 1 FLT T A W 2

@ e A _ B) o T A

(C) el gd o gran @ (D) 9a & TE T |

42272.%%%%%&@%%@%?
(@) <t srfys Ut ¥
(B) < 5ga uRadt §
(C) = Sftad =it FHSR arEafasharsil § S@a §
(D) S S FY Feredl B A AR T
43/73. wfa AN A F AT = § ? _
() iR S T g T
- (B) i weAl § nfasfieran o W R & wifa F 9 W AW 5g 9
(C) |eE & T § 3Hfem
(D) =E wfa &1 g ¢ |
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44/74.'%&%@%6@'—1@’—
e § - s 2
() B) 3T
(C) &9 (D) HUH |

45/75. Hiaar %1 UG IYF B THa ¥

@A) wd (B) Hicmed
(C) ATEH (D) wmfa |
Part - B

frder:  Frefafaa wel & SW & fou gad 3w faswey 9fw

46/76. WEAHE TR R S e w1 et et §

(A)  TISTgEE JUTE (B)  HHATH WO

(C) o e yowedt (D) AT o |
47/77.a€wﬂ;wﬁnaﬁaﬁmmmﬂ§qmﬁ%|ﬁ§m%mmwaﬁﬁ?

(A) T TF TeW S wnuifas wiEa e g Fan § (fie’ gy wete @ fwin #5359

(B) isel %I TH-TH 9N Wel airk ¥ ferad & ferg wEh

() == Y IFH! AfeA w1 AEEH HAN

(D) o R A Wl e @ & e @i |
48/78.%&7!%@@13‘%@#%17%&7{%,meﬂﬁ?wﬁwﬁgaﬂ%%mwaﬁﬁ?

@A) = A w2 F A g H e wd s w

(B) a=i % H-far ol Serehl ST AT FHUA HI Hedl

.(C] aﬁﬁaﬁmm—mﬂﬁﬁwwmamﬁr&ﬁ

(D) =99 ¥ 9t |
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49/79. =i 1 WihT I=H fHd Fed € ?
@) 57 =) &1 e 7= 9 €
B) o w=ai | 7= 9fifeq €
() fo w=dl &1 v a= S €
(D) for wresi 1 o1ef ==y S € SR WA A ¥ 1
50/80. o=l H HraA % @Ie FHaTen FWEYY uftEda #
(@) =EER H gftad B T vl ¥ e
(C) =AfeRmTa Yo # gREda (D) 379 & & &Y |
51/81. T& quEst &a H HH-11 o - s % fagidl & sfaga € 2
(A) = & Tam fagm @ =0 &1 go-faere siva @ g
(B) o= Ufawr | Yrw WTHT Sl YRV HAd U W94 & e o ged €
(€) wre yfEw # e sfsia &t S @
(D) fiz-vgg AR 9w HiEH § TS e T o
52/82. Wufeh TR W 'GA-serl’ Hiva & fawma § wiF-w fafvmr afus qeas € 2
(A) FEHI-FHEA AR gaoE
(B) wHfgai-ure AR wre-garmeme
(©) Hfae-faie ( Ta-=1 ) R gHER-a=A
(D) freri-frafe &R amd=a s |
53/83. o=l H WIW-YaTg A1 Aifchah Ve 1 Yook i 2q SIGH €
() feafea whemd (B) i S
(C) =AfFa TdEy ' (D) = 9 & T |

54/84. foush FTER ' qedisd 9 Wihal € 9% g1 1979k 9 BT 39 91d &1 (viE & § 6 Mg
¥ @edi Ay o o @ ¥ @ 2

(A) FHa® &H B =HESF
(C) TS (D) =79 ¥ %I &7 |
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55/85. W3 | fau v fasi 1 w1 s2vg B ¥ 2

(A fo3 e dereell ) gwen § wer w ¥

B) o=l ¥ weag=F FdF st &

(©) fo=t e %t viwn ser &

(D) Wﬁﬁaﬁmw%|
56/86. fefeifad & ¥ =17 w frem werrs aneit § geddifes aem 78 & 2

(A) s . B I

€ e D) YITRF |
57/87. 71 ¥ @ #1 IT=RIeTS wri- e ¥q v wHe 79 & 2

A) @mwmmﬁmwm%a‘\mmﬁ@fm?m

(B) HSI 1 UISATF HI YARYU IF F g

(C) reTH 1 g THF it Tt sryfigal @1 wam

(D) 379 9 Tt |
58/88. T fuierdk 1wl wgr wwa e § § foy wrem i wa wewem w e 2
(A) UITEF H (B) WM SreTee i
(O VMY (D) 999 &3 & |
59/89.%ﬁwﬁmﬂﬁaw'g'mﬁwﬁmmwaﬁa€@m%|Qﬁﬁa¢mw
H4 ?

(A) 383 It vl Ho o T foag T

B) & H 'S A wedl B T D-1D e F forw 2

(C) e =i '3’ a W= H g &

(D) w3 '3’ a1 e B WS WA ¥ I T WA F IEH SRAqd Ser w1 snarg S |
60/90. =0 AR a1 Sgifes g1 & " '

39 $Y9 q g
(A) gofa: TEEg § (B)  3ivid: WEHq §
(© foacge gewa T § D) wEa ¥ s ek T ot |
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Section - II
Language - Nepali
79 fayrmmn s 30 521 W g1 | HE yeEEEe! SW e sfad e |

There are 30 questions in all in this Section. All questions are compulsory.
Part - A

A. - Ffafed geaie ge @ifyuat (31/61 - 35/65 ) UeEEH HEl ST BRI :

‘s | T afa W | am eifa s ogieRt Aaetfyerar af SRl diven g0 W afedls
TEEH Saren afe 1
31/61. 'T@EFA’ — H #d F & ?
(A) T=he AT (B)  SIEHI AT S,
(©) s faeR (D) W EEEE S
32/62. ‘FasAfyam’ — &t 312 F w2
(A) T B) el SRS
(€ e wafa (D) W IEE |
33/63. 'TEMe’ FEI W= = ?
(A) THH (B) dg¥a
(C) <wr (D) WS |
34/64. 'afa’ & w= & ?

(A) AHER B) T fasoo

() IyH (D) ¥&F |
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35/65. ‘d’ F TE9 § ?
@) 3ITH qe (B) HAH TEW
(C) &gy (D) ﬁ’mgﬂu.
B. ﬁﬂﬁf@ﬂﬂﬂﬁ@?ﬁfﬂ@iSﬁ/ﬁﬁ—45/?5)Wﬂﬁﬁ?@E@ﬂ:

TEM IS WA R IRA g9 gTas vt | de sl SHae g
T, fafew AT 9 e MR e gEe W@ g frea | el swe s
et fatiy W, AR Tede fa W | W M T s g8 TRd — R Fe
FeE AR @ TR el Tiel 3 | e 9vgl geafa-aem, =9, i, aral T
T3 JEI UE | I AfFaTa @ Wi ORI, Hel SrErh! gUHl Srdsl | T
SAEAHT TG W forneffewel M MO e g3 W9 AT qE e W @
e T — @ G T T o e ‘

Wﬁwm_wmmﬁmﬁﬁwnﬁﬁmﬁéﬁmmmq
FRU 799 fEER g’ e | e e e YRdEe s wel et
FHTEAN AT F TR =R FRE ST g "el el e & |

36/66. ‘famefl’ vssgm $9-F9 W JUH AG T ?
(A) 3+ A | B) #+ A
€ &+ D) 3M+3 I
37/67. " TTEAN' vEH ‘31’ FH EIH YA WUH T ?
(A) v=E B)  IgE
(C) =R (D) HIETHR |
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38/68. Tes fofA YRAH g0 9T €1 ?

(&) T SRS WATE T
(B) W&ﬂwﬂﬁzﬁmmmmm
©) W*ﬁﬂﬁ#ﬂﬁﬂmwu@ﬁ_
(D) ¥t FirE S TS |
39/69. Afdw wfemh THARR 31 T
(A) cnemfors wifem (B)
() &2 B (D)
40/70. ‘@Y’ YR 'Y’ T I A 2

() dfsd (B)

- (© e (D)
41/71. SYYF TRV G Vi F9 @ ?

(A) TEA TS - T (B)

(C) fEamh #gt I9am - it (D)

42/72. ' 751 & T= 7 ?
(A) Hsm (B)

(©) o fagmo (D)

LRI EIES]

=g fE |

dineer gigA |

Afcer wiferTan ggaM - TR
HAAAEAAT — TR |

forgrom

FT |

43/73. ‘3R el fEw M’ — FEA T v R F TR o 8 2

(A) =l (B)

(C) HAYRH (D)

577432 i 6001 I

Eau|

arfyeRTor |

[ P3.Q.



30
4474, "fq®’ F& I B ?

@A) g - B) T
(C) wa=™H (D) g g |

45/75. ‘faeneft’ 37 gfuw e B 2

(A) srfe wfy (B) T gfy
) fact ufy [D)' GiEECARIERE i
Part - B

46/76. Wu@mmﬁmﬂﬁ ?
(A) gEEH B) AR
(C) T D) R ]
47/77. ‘wfasH’ & & ?
() e TRl faae (B) oHoER et fasm

(C) sty fagm™ : (D) WEAEEE fa=E |

48/78. "We must procure the best teachers for our children whatever it may cost."

4 ! AR B ?
A W=z (Bj RICC IS
() = aRfa= (D) &9 9% |

49/79. fery) Fza foere yads &l g1 ?
A W (B wH
(C) =HreAdeh (D) foa=wE= |
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a) e (B) TS

©) TEFEE (D) AR |
51/81. faerer &= T, TlEAAET, sTifgaaEs & 8l ?

@) Tfiza @e ' B) FGI FgEFH

() wnfd _ (D) favaenf< |

52,/82. TleeA fagrm gfaures %l g 7
(a) %@ (B) ¥oH UEhER

(€) TSt D) oz frafea | ;
53/83. 'W'Hﬁ'ﬂh‘l‘ﬂﬂmﬁﬁ?

(A) IRHATT FHH B) wwrEY fHE

©) rra-—mﬁwwm (D) ma‘ﬁil
54/34.meﬂmﬁqﬁﬁhmﬁaﬁwﬁmﬁwﬁa?

() forEgar W B) TEEEE

C) THEgH (D) UREHT 9YH |
55/85.mmmwwwmmmw%@?

(A) TR SR B) ST e

) wfard s=ieH (D) TeI<dER AR |
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A aﬁéa?mmﬁf@ammm
(B) %ﬁwwﬁ@amw
() smiHe frigr fafe wvewe

(D) sToen wagry fefea @ves= |

A I oG : (B)

(C) gl trr% (D)
58/88. YT TTHTS faeneiteea

(@) o faswmam wemm 1% (B)

€ waigto faswram wamEa 75 (D)
59/89. 'Psychology’ W=t F9 W Wse 71 ?

(A) wfed (B)

€ %= (D)
60/90. fram ==m @e7 ¥ 7 2

@) =it fawm | (B)

(C) wFfas faamg (D)
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QeI - Gl

‘Section - II

Language — Oriya
Qe dQI56q MOE ge A8 | A8 gg9een AaQ 6l ARQIY |

There are 30 questions in all in this Section. All questions are compulsory.

(31/61 - 37/67 ) €0A 2R6RQE 0 A76a G2l AIagel agafea 908 aaad aa :

“@9 6Q9IQ GEm ﬂﬁé F6I6Q QB0 QYIaR Ye° QQla 6Q9l AQ6He | 6wl&Id 6qITY F6ad
8GR 99 629, YOR ARIFIEIEA SAITY §aQ R | RIQE, YR U8 R R CRER6IER AQEH
dad 6 YR6QEed cQIRAIY | QEIAIY, AIAIFINER FIQARR @861 6 A'dNeQ A6AE O] e |
39 06 @190 6AeR BRI 0Fica UEAITe AR FQUCR. R19R U 2R B6R CEPQ AIAGI. 64
de4e, @@ 6 CENe 061 AR, AT6a A9 AYQ 99 AL6AIT KERIQ d8 QS @ QY I”

31/61. ‘99’ 42 6@6 ATER A 6QIRG ?

32/62.

33/63.

34/64.

577432
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(&)  Q0QQ AREIR QY
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A) Q99!

(C) QRIQ

@5eaaea a1el -
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(D)
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35/65. QRILrSIQ 9f
(A) QB! + 2ergl (B) . @RI +QrSl
(C) QB + Qs D) @R + Qs |
36/66. I0I6A ‘RQ’ 60 Zel ¢'q 7
(A)  Qscad (B) Qe
(© Q9 (D) 2AQY |
37/67. QRIAQ PR Q'€ QY ?
(A)  QFIRQ ARTER YRIQ A9 4ea gaie
(B) 9I9%e Jae g8 Qv
€) 4% g98q agd Qv
D)  QErRQ AARE G6n AFTI0Q FI08 QY |
(38/68 - 44/74) G7) @G0T CI0QE AMeY 6106616 aae fRYQ 90 e &2
“UQS AR, QANMAE, QAN IRQ 19! |
G 91 704 ARIR 26 | AT F6R 9191 |
Q9 60Qa ARIY aoen-cd-yg,
CRIQI Q19 9Q, a2 32 94 | of dce ade |
A6R 994 AAR A6h FIQES 98199,
918 7 afie1 a0Iad 08 aIRe M1ee-ae |
Q6Q 7 6296, AIFS AI9 | Q) A’ 69Q |
e ae8 age IRl AGe €18 69Q | |
2190 Q6aP 6T0R919 adie ada ae,
Q360 96 Q0IRQ A8l ATRgR A I
38/68. A4 ARIR QQI AR AARQ '8 6AIF G 7
| a) 919 B) Q&
€) mQ (D) gal

oL,
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(A) @dl 66188

() Q66866 Gca86

@aal edlosn @ ?

(A) E]GHI@G‘L

(C) 4’1eQal Al

Q8 @6 gea 7
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(C) Qadr’d 6QQ
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© Q¢ sdlauon
‘AIRIdY 60a 99 ?
A)  ORIR a8
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(B)

(D)
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(B)
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Qgen |
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R0 668
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91.

92.

93.

fae - 111(a)

S7

sifre @ fasiy
Section - IIl(a)
Mathematics & Science
a8 fere (6 60 6 o =g | @« @3 Faf b3+ @y I el oe Ted e 3@ |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

CONIE O T x 929 X1 5 924
R 8 5 9 AW FACTE TS 2o
(A) (5-x):(5+x)

(B) (x-95):(x+95)

(C) (10+x):x

(D) (x+5):(x-5).

(2x +1)% =4x2 + 4x + 1. @6 @b
(A) TIFe

(B) oM

(C) SN

(D) RIEAIDE 73

AT @ FANENT TS 19 : 20 ZET,

9].

92.

93.

94.

95.

(A) 10%
(B) 7-5%
(C) 5%
(D) 2:5%.
94, @3 eME 20% Ia a1 4
g 90| e F@ 7
(A) 60
(B) 70
(C) 75
(D) 80.
95. (p+q)=8 WR (p-q)=6C1 pg-<ad
I 25
A) 7
(B) 14
€)' 21
(D) 28.
577432
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- (A)

If your present age is x, then the
ratio of your ages 5 years before and
5 years after the present is

(A) (5-x):(5+ x)

B) (x-95):(x+9)

{Cl. (10 +x); x

(D) (Xx+5):(x~-5).

(2x +1)%> =4x? + 4x + 1. This is an

(A) equation

(B) identity

(C) inequation

(D) none of these.

If the ratio of sale price and purchase

price is 19 :
loss is

(A) 10%

B) 75%

C) 5%

(D) 2-:5%.

If a number is increased by 20%, it
becomes 90. The number is

20, the percentage of

60
(B) 70
(C) 75
(D) 80.

If (p+q)=8 and (p—q)=6, then the
value of pg will be

A) 7
(B) 14
© 21
(D) 28.

[ P.T.O.



96.

97.

98.

99,

100.

0.63 -aq @51 &

@ =
® =
© =
o

A8 B-Aa9 G % 10 929, B8 C-4E9
AT 1% 15 929 @R A € C-99 9¢9
TG 20 @I A, B8 C-O9F O I©

<9 ?

(A) 125924

(B) 17-53%

(C) 15327

(D) 20 %4 |

1296-43 55T 71

(A) 24

(B) 26

(C) 36

(D) 44.

68, 3-2, 2:7, x @2 8-2-99 T 5 R
x-99 Y9 '@

A 4

(B) 51

(©) 41

(D) 39 _
3 fb @fiie o o1e 42
(A) I

(B) WA

(C) TH@ET (@ (P @f>

(D) HGE 77|

377432
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96.

97.

98.

99.

100.

6001

The_ fraction of 0-63 is

" =
B o
© &
o -

The average age of A and B is
10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A) 12:5 years

{Bi 175 years

(C) 15 years

(D) 20 years.

The square root of 1296 is
(A) 24

(B) 26

(C) 36

(D) 44.

The average of 68, 3-2, 27, x and
8:2 18 5. So the value of x is

(A) 4
(B) 51
(C) 41
(D) 39

The average of three consecutive
whole numbers is always .

(A) even

(B) odd

(C) any of these
(D) none of these.



101.

102.

103.

@3 5OGCeE Mib TP o AT
90° (@Il MWRGBE FET (R bogens
Tl 2

(A) efCs@
(B) s
(C) =
(D) Tifeiferan

a3 AW =oeE 2fels S I
165° RC1, TGS AL 2o

(a) 12

(B) 24

€ 6

(D) 8.

e fager AABC-9g A @19

/A =70° 30 ABA @ AED i 2

104.

105.

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC < BC.

g3 Foed owedre faww, @b
SPRCPICIR W 25° 2, oI A

(A) 755°
(B) 110°
(C) 130°
(D) 155°.

ABc fagem AB3 waiffsy D, @?
DE||BC. BC =7 cm 21 DE-&4 NN

=
A

D 4 E
B ¢
(A) 14 cm
(B) 7cm
(C) 3'5ecm
(D) 14 cm.

S77432
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101.

102.

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus

(D) trapezium.

If each interior angle of a regular
polygon is 165°, then the number of
sides of the polygon is

Ay 12
(B) 24
Q)6
(D) 8.

103.

104.

105.

6001

The vertical angle A of an isosceles
triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC < BC.

An acute angle of an obtuse angled
isosceles triangle is 25°. So the value
of obtuse angle is

(A) ' 75:5°
(B)o! ' EEO?
(C)  130°
(D). 1557,
In AABC, D is the mid-point of AB,

DE| | BC. If BC = 7 cm, then the value

of DE is
A

14 cm
T em
35 cm
1'4 cm.

(A)
(B)
(€)
(D)

[ P.T.O.



106.

107.

108.

109.

110.

111.

4,7, 12-G9 59 HATS] &7

(A) 28
B) 21
(C) 14
(D) 35.

50-99 x % = x99 y % JE y-99 9

Eul
(A)
(B)
(C) 75

(D) 100.

3x? - 2yz + 522 Q¥ FLAWEAA Hefieail

5
(A)
(B)
(C) 6
(D) 5.
55 kg 1T 25 kg W31 @ QMBI Ol

YR O G T TYATS T ?

25
50

4
3

(A) 11:5
B) 5:6
(C) 6:5
(D) 5:11.

@b (@Y M@ A-97 e B-@a
TR f@ed| A-a9 @O 428 Bl
301, B-AF S ¥

(A) 214 Br=el

(B) 556 GBIl

(C) 107 Br=vl

(D) 856 b1l |

Qs 2IPGe bEG (P19 7o 73°, 97°,
146° @38 138° | LW (@67 W

(A) 113°
(B) 104°
(C) 86°
* (D) 83

577432
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106.

107.

108.

109.

110.

111,

The fourth proportionate of 4, 7 and
12 is

(A) . 28

(B) 21
(C) 14

(D) 35.

If x % of 50 = y % of x, the value of
y will be

(A). 25

(B) 50

(C) 75

(D) 100.

The number of variables in the
expression x> - 2yz + 522 is

(A) 4

(B) 3

€) 6

(DY) 5.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

(A) 11:5

(B) 5:6

(€)Y G6:5

(D) 5:11.

The principal amount of A is twice of
B in a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs. 214
(B) Rs. 556
(C) Rs. 107
(D) Rs. 856.

Four angles of a pentagon are 73°,
97°, 146° and 138°. The value of the
fifth angle will be

(A) 113°
(B) 104°
(C) 86°
(D) 83°.



112.

113.

AEEqP® ABCD 8 ABEF-Q4 (Fa%e
AT AN @48 O THOl Y&

h 8 p 2E
(A) h>p
(B) h<p
(€ h=p
(D) IS «H |
ewe 504 AB||CD %, /BGE-99 W
kY
F
o/
G D
pr, i
90° + x(y
A /G B
E
(A) 45°
(B) 120°
(C) 135°
(D) 270°.
114, N3 @ drerafa T @b fage

%A 41 W ?
(A) . 95°, 45°, 50°
(B) 95° 45°, 40°
(C) |65, 85°, 50°
(D) 659, 85°, 25°,

115.

116.

b HLAE AN 32 @9 @ 5 W@ @9
FAET (¥ AN N8 I O F& H2ioa
(F 16 I 2@, G129

(A) 83

(B) -44,

(C) -83

(B) 12.

(x + 3)(x — 3)-9 x-49 AR5 F© ?
(A) 1

(B) 2

€ -0

D) -=1:
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112,

113.

114,

115,

116.

The areas of the parallelograms ABCD
and ABEF are equal. If their heights
be h & p respectively, then

(A) h>p
(B) h<p
(C) h=p
(D) none of these.

In the figure below, AB| | CD, then the
value of ZBGE is

C ";y D
90° + x
A / & B
E
(A) 45°
(B) 120°
(C) 135°
(D) 270°.

With which of the following angles, a
triangle can be formed ?

(A) 95°, 45°, 50°
(B) 95°, 45°, 40°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) -44
(C). <88
D) A2

The coefficient of x in the expression
(x+3)(x-23) is

A 1

6001

(B)
(©)
(D)

i3
0
-1.

[ P.T.O.



127,

118.

119.

120.

121

122

x2 — 8x + 15 A7 Teomaaf 2o

(A) (x-5)(x+3)
(B) (x-8)x+7)
(€) (x-S)x-3)
(D) (x-8)(x-7).

a?b®, a’b?, a*p®-@9a #|Me. 32¢*

2@ b-aq NI 2

(A) 32

(B) 24

(C) 6

(D) 2. |

o aiffm eews o2+ b3;  wfimfda
1ALS. (a + b) RET @AY, ]
(&) (a®+b?)

(B) (a? -ab +b?)

(C) (a? +2ab +b?)

(D) (a? +ab+b?).

199-9% 9 =&

(A) 7880599

(B) 9703011

(C) 7680951

(D) 6879091.

frafeReafm @emt erames @ 5y 2

(A) STrewe

(B) T

€ =¥

(D) BT

. (PICER & (Rl ead 2 2
A) fesbersms '

(B) QRSN

(C) oIS

(D)  CERITAICSTIN |
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117. The factors of x2 - 8x + 15 is8

118.

119.

120.

i ) L

122.

(A) (x-5)(x+3)
(B) (x-8)(x+7)

(C)  (x-5)x-3)

(D) i(x—8)x~7).

If the L.C.M. of a’b®, a®b?, a*p® is
32q% , the value of b will be

(A) 32

(B) 24

(C) 6

(D)2

The product of two terms is a + b3
and H.C.F. of the two terms is (a + b).

So L.C.M. will be

(A) (a?+b?)

(B) (a?-ab+b?)
(C) (a2 +2ab+b?)
(D) (a? +ab +b?).
The cube of 199 is
(A) 7880599

(B) 9703011

(C) * 7680951

(D) 6879091,

Which of the following is not a
component of phloem ?

(A)
(B)
(C)

Sieve tube
Companion cell
Fibre

(D) Sclereid.

The site of protein synthesis in a
cell is

(A) Dictyosome
(B) Ribosome

(C)
(D)

Mesosome

Chromosome.
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123. FAEfiiRe @m wmiqe e aR@en 123. Which of the following organelle has
many ribosomes attached to it ?

AL A ?
A) S QAT Sl (A) Rough endoplasmic reticulum
(B) omifer af (B) Golgi body
(c] W (C) Lysosom?
[D) Wea | . [D] Vacuole.
' @ = . cutaneous respiration is
(A) B (A) reptiles
B) 5 (B) amphibians
' (C) birds
C) oFR
[D) Ry (D) mammals.
(D) : 125. The phylum of animals showing
125. (3 #tde 2NTNora T ol 1w ©f e presence of mesoglea is
(A) = (A) porifera
(B) QICRE (B) ctenophora
C) Fefa (C) cnidaria
(D) emfbrzsfie | (D) platyhelminthes.
126. (B *mIT ‘qife-391 7w sfefze 2 126. Which substance is known as
(A) Sraw '‘bucky-ball' ?
(B) G (A) Diamond
o - (B) Gold
D) ' I (C) Fullerene
- (D) Graphite.
127. AR TomA el 5 e 2 Yoo & L
) at are the components o un
(A) T, <IN FIBEE @12 2T powder ?
ARG (A) Carbon, potassium nitrate and
(B) <4, F&1wE ¢ e potassium sulphate
(C) A, SETFIF @ FIZHI (B) Carbon, sulphur and bismuth
(D) eTeE, CIfSAN  FREE @< (C) Carbon, sulphur and nitre
>[BIFTEI SIe100 | (D) Sulphur, sodium nitrate and
128. TG ST . potassium sulphate.
A) f : 128. The substance used in rocket fuel is
(B) ' (A) liquid nitrogen
O%T RIRTGICET (B) liquid hydrogen
C) I
(C) CIRAIHIRT (C) carbon dioxide
(D) % fRferam | (D) liquid helium.

577432 6001 : [ P.T.O.




129.

130.

131,

132.

133.

134.

s foora P Fweied € 9@ o=

(A) AMAETG

(B) I

(C) AP @

(D) €S (8T B3 |
OO HAE THIZA 2o
(A) EP

(B) Gl

(C) @&

(D) I

ffeResl™ T @H 2@a A9 (R
e ?

(A)  CNTETT

(B) QIIZETGINGI
(C) «arE=NCT
(D) SHIfAfeTe |

fsfiRoefn  @mb Sl e
"N ?
(A)
(B)

LT

@i

) faeRye aw#s

(D) oI |

fefifRoalr @mbte Sfeflre wyrem
S HS 7

(A) R W2

(B) Wied W2

(C) TR WIR

(D) =5 W |

fRsferie o efifia o 2e B 2
A) TRG

(B) ¥

(€) s

(D) SmfsEl |
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128,

130.

131.

132,

133.

134.

6001

The concept of stationary orbit in an
atom was proposed by

(A) Rutherford

(B) Dalton

(C) Neils Bohr

(D) J.dJ. Thomson.

An example of a solution made of
solid in solid is

(A) fog
(B) smoke
(C) bronze
(D) air.

Which one of the following animal
body phyla has segmented body ?

(A) Mollusca
(B) Echinodermata
(C) Aschelminthes
(D) Annelida.

Which of the following is not 'a

mammalian character ?

(A) Pinna

(B) Mammary gland

(C) Three chambered heart
(D) * Hairs.

Which one of the following does not
have accessory respiratory organ ?

(A)
(B)
(C)
(D)

Which one of the following animals’
locomotory organ is cilia ?

Anabus sp
Clarius sp
Labeo sp

Heteropneustes sp.

(A) Hydra

(B) Earthworm
(C) Paramoecium
(D) Amoeba.
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135, Porast g oy wifl sy ze
(A) TP
B) IF
(C) STy
(D) <% |
136. WBR &Fe b4 AN @1 27
(A) O GF AEES
(B) ‘SIPBIE &% AZ(T6’
(C) ‘WFBR oI IBHG’
(D) ‘WO W HTFIZC |
137. b @G ofoe SoifFaE) »
(A) =T N
(B) Q@HIEH
(C) AT ("
(D) =G|
138. (I8 A8 (1% ¢ wfeesramma sy
eifafSe AT faitice Seom wrsy
(A) SRARA@E FIRoe
(B) SIRN@R G oo
(C) SRRT@E IsfjeTa i
(D) SRRNER 0o FAAN1o% |
139. @36 W&t (@ra wfbesiers 1@ ze

(A) 1-08 volt
(B) 1:5volt
(C) 1-05 volt
(D) 1-8 volt.
140. WIf§z Twer @ 31T O F18e6 (o
W@ dife fore s @ o @ ¢

(A) AN bICoia i T

(B) QNS bI9f EPT SAGTA P
(C) Tl E¥ MG &

(D) bl gfag o |

135.

136.

137.

The organ responsible for secretion of
bile is

(A) liver

(B) kidney

(C) pancreas

(D) stomach.

Acharya Prafulla - Chandra Roy is
known as

(A) 'Master of Sulphates'
(B) 'Master of Nitrates'
(C) 'Master of:Nitrites'
(D) 'Master of Sulphides'.

Which one of the following is the non-
conductor of electricity ?

(A) Gas carbon
(B) Ebonite

'~ (C) Human body

138.

(D) Soil.

For a definite resistance and for the

definite time of flow of current, the

heat produced in a conductor is

proportional to

(A) the flow of current

(B) the cube root of the flow of
current

[Cj the square root of the flow of
current

(D) the square of the flow of current.

139. The emf of a dry cell is

140.

577432 6001

(A) 108 volt
(B) 1:5volt
(C) 1-:05 volt
(D) 1-8 volt.

Why does an ink-filled fountain pen
leak at a high altitude ?

(A) Atmospheric pressure increases
(B) Atmospheric pressure decreases
(C) Temperature decreases

(D) Height increases.

[ P.T.O.



141.

142.

143.

JESREE T AEGAE 2D 29
a) ffermefam

(B) RN

©) e

(D) CaNRrSfer |
SISO G A1 (A AN 2E
feTceiIRb

@fgcRIRe

CRIGIRIET

(D) CZATGIRD |

A @b (T LAENE N 2
CBIBPBE

(A)
(B)

(€)

(A)

(B)

(B) @CEICEH,
(C)

(D) Gmﬁﬁﬁ%3|
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141. Substance

important for = blood

clotting is

(A)
(B)
(€)

(D)’

142. The
(A)
(B)
(C)
(D)

143. The

- bilirubin

prothrombin

albumin

globulin.

cell responsible for immunity is
lymphocyte

erythrocyte

thrombocyte

hepatocyte.

name of a female reproductive

hormone is

(A)
(B)
(€)

testosterone
progesterone
gastrin
adrenaline.

pulmonary venous blood enters

.............. chamber of the heart.
right auricle
left auricle
sinus venosus
ventricle.

name of the emergency hormone

thyroxine
estrogen
glucagon

adrenaline.
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When repulsion occurs between two
substances then those two
substances are

(A) both magnets
(B) both magnetic substances

(C) one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is
magnetic substance.

The electrode which is connected to
the positive pole of the battery is
called

(A) cathode

(B) cation

(C) anode

(D) anion.

Casparian strip is made up of
(A) Chitin

(B) Cellulose

(C) Pectin

(D) Suberin.

Which of the following is not a green
plant ?

(A) Lotus

(B) Spirogyra

(C) Agaricus
(D) Fern.

In an eukaryotic cell, the organelle
responsible for aerobic respiration is

(A) Chloroplastid
(B) Mitochondria
(C) Golgi body

(D) Lysosome.

146. {6 =iicels el 701 (i simieligfb == 146.
(A) TeuE pEe
(B) CbrEs swief
(C) @3l pas @ worafs wcless swiel
(D) @0 p&% @ o @l (Braw omie|
147 LR e (W @ A
ofbeaRE 961 7Y
(A) TN : 147,
(B) <HIIGIRS
(C) TS
(D) IR |
148. AR % aifde @ Somie o1 2o
(A) R
| 148.
(B) GrEfeETen
(C) Cofow
(D) R
1491%ﬁ%ﬁmwﬁﬁ:Gﬂﬂ%vﬂgfiﬁwaﬂ?
(A) =4 149,
(B) =ABrIsnEa
(C) Ry
(D) I |
150. }bwfseloe (oimm @ wmq mre
PR T WA 1S Ze 150
(A) (FRIERDE
(B) NIRRT
(C) swifer af
(D) ENREICEIN |
577432
6001
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92.

93.

94.

(A) AP g

B) f=-zifa Twy
SUEELC
GiRoig e |

LY WET WRAER 2T .......

(A) S

- (B) @fFr

(©) ez S
(D) (WG =T |

vy @l 7 wape faw coreg it 2

(A) AN (B)
(C) Aagw (D)
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faete - 111 (b)

ey fqwyl

Section - III (b)
SOCIAL STUDIES
a3 faenst @ 60 6 op = | mﬁmﬁaiﬁwﬁmw@wwm@—aﬁwm |

There are 60 questions in all in this Section. The candidates who have selected this sub_]ect
must answer all the questions.

o NRIACT |

Yl
01 7Y |

faureTy (@ eafe sfoxren ©f 249

(A) ©Tet oo
(B) T oo
(C) wwcerafefa
(D) wRfE *<e |

577432
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93.

94.
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Effect of revolution of earth is

(A) change of seasons :

(B) occurrence of days and nights
(C) occurrence of flood

(D) occurrence of earthquake.
The first humans came from

(A) Africa

(B) Asia

(C) North America

(D) none of these.

The Tropic of Cancer passes through
(A) Krishnanagar

(B) Bankura

(C) Birbhum

(D) none of these.

The Himalayas belong to the categor?
of :

(A) Fold Mountains
(B) Block Mountains
(C) Volcanic Mountains

(D) Residual Mountains.



95.

96.

97.

98.

99.

100.

(©)

AN AP B! e
Y599 3

(FAGIR §Y |

(A) S»ax (B)

(C) ssae e (D)
A SIS T zeT
R
BEIBTE]

et st 3R 2ot

(A) (B)

(C) (D) SmfRfEE |
TITeTIR 9|
Afa5eT (D)

sifeefig Ao = | A0 27

farfsifsifsy

(A) (B) e

afG &f% |
=

(A) (B)

(C) s

WRIge 2

(D) =@ |

FEEIY (Rl

(B)
(C)
(D) % Caar |
WV @ 919 QIS %57
e Trpe

qre

(A)
(B)
(C) o

(D) (G2 77 |
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95.

96.

a7,

98.

99,

100.

6001

Project Tiger was started in

(A) 1972A.D. (B) 1973 AD.
(C) 1975 A.D. (D) none of these.
Atmospheric pressure is measured
by
(A)
(B)
(C)

(D)

Bérometer
Thermometer
Hygrometer
Anemometer.,

Rainfall of equatorial region is

(A) relief

(B) frontal

(C) convectional
(D) drizzle.

Longest river in the world is

(A) Mississippi
(B) Nile

(C) Ganga

(D) Brahmaputra.

Great circle means

(A) Equator

(B) Tropic of Cancer
(C) Tropic of Capricorn
(D) Pole,

Dadra and Nagar Haveliis a

(A) Union Territory
(B) State

(C) District

(D) none of these.

[ P.T.O.
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101. Free India Centre ¥[*f® iy 101. The Free India Centre was set up in

(A) e (A) Berlin
B) =ew (B) London
| (© GrfPeTe (C) Tokyo
(D) GG | ' (D) Rome.
102. Indian Independence League ¥ 102. The Indian Independence League was
TR - - set up by
(A) IR 3 (A) Rashbehari Basu
(B) ‘Terav¥ T (B) Subhas Chandra Bose
(C) B G e (C) Captain Mohan Singh
(D) 9GTR (T 7 | (D) none of them.
103. Direct Action-a% - 2 103. Direct Action was initiated in
(A) e : (A) Galcutta
(B) QCatS ) (B) Bombay
(C) wmicen (C) Madras
(D) CPWER T | (D) none of these.
104. C.R. Formula-¥ &% (= 104. C.R. Formula was forwarded by
() vl AT | (A) Chakravarthi Rajagopalachari
(B) fowwem am : . (B) Chittaranjan Das
(C) #AuaY AP - (C) Rabindranath Tagore
(D) ETR FT T | | (D) none of them.
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10S. "SR (TN A1 -97 ISP 2

(A)
(B)

(C)

BRG] ATGTCSTIof TSI
foaaem wm
A PR

(D) ¢TE @S 77 |

106. G qrarar (15 qren e

(A)
(B)

(C)

=89
PIEACNE

Tudlv

(D) ™A @ 7 |

107. @ qren fomeft (ifza srey 1w 2

(A)

(B)

(©)

(D)

ALY FHBY
fady rwed Rerifre

ey

AW (S a9 |

108. *1fa A1ty sifafee v 2o fof 3

(A)
(B)
©)

(D)
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105.

106.

107.

108.
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Amar Sonar Bangla was composed by
(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

The last king of the Maurya Dynasty

was
(A) Brihadratha

(B) Kalashoka

(C) Udayin

(D) None of them.

Who was called Lichchhavi dauhitra ?
(A) Chandragupta I

(B) Chandragupta II Vikramaditya
(C) Samudragupta

(D) None of them.

Sakari was the title earned by

(A) Chandragupta I

(B) Chandragupta II Vikramaditya
(C) Samudragupta

(D) None of them.

[ P.T.O.



- 109. WIREE 2% 61 FEH
Aa) IFS
(B) CMefe@ e
(C) Fwe@ R
(D) €A (FO = |
110. fady *p1e ofers T
(A) FEeY (I
(B) I
(€) fadry et
(D) €T (FO 7 |
111. 0™ &7 SemIoNgl =0 2
(A) @F % A8
(B) /W
(c) Fiez
(D) =fS |
112, IR T
(A) &
(B) < e
(C) == T
(D) CIS AT |
113. F1ReIrg Sfgn #1e¥l I
(A) wReTE WS
(B) W“IW“
(C) erwwe Wfbre
(D) CIEGIR 7T |
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109. The Aihole Prasasti was composed by

110.

(A) Ravikirti

(B) Gautamiputra Satakarni
(C) Vasisthaputra Pulamayi
(D) None of them.
Pulakeshin II defeated

(A) Chandragupta Maurya
(B) Harshavardhan

(C) Nagabhatta II

(D) None of them.

111. Jaldapara is famous for

112.

113.

6001

(A) one horned Rhinoceros

(B) Tiger

(C) Lion

(D) Elephant.

Cause of air pollution is

(A) smoke

(B) cleaning utensils

(C) bathing

(D) wuse of fertilizer.
Mangrove forest is found in
(A) Saline soil

(B) Black soil

(C) Podzol

(D) None of these.



114. voo fiGrR T Ghiasl z#1
(&) e (B)  mgR
(€ *=E (D) = |
115. i@t oo S go
(A) S
(B) wcgferar
(C) wfwer wnfdrem
(D) eHifF |
116. IREH TAFE 2o
(A) TSl
(B) st
©) e |
(D) (PG 77 |

117. F0% 3~ I Iorer Soifee

FAMRE 2

(A) GRER
(B) @RS
(C) *n=e=H

(D) ETR T 4 |

118. SITH-T1-519 SIS (I TG FE 2

A) e
(B) <&ANG
(IC) AR
(D) CEIZ 7T |
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116.

114. Landform which is 600 metres high,

115.

117

118.

6001

is

(A)
(B)
(€)

(D)

Plateau
Plain
Hill

Mountain.

Earthquake prone region is

(A)
(B)
(C)
(D)

Japan
Australia
South Africa

Germany.

Babur was born in

(A)
(B)
(©)
(D)

Fergana
Delhi
Ajmer

none of these.

Captain Hawkins visited the court of

(A)

(B)
©)
D)

Jahangir
Akbar
Shahjahan

None of them.

Vasco-da-Gama came to India and

landed at

(A)
(B)
(C)
(D)

Khozikode
Gujarat
Patna

none of these.

[ P.T.O.
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119, TREREEE TN Gilfe 29 119. Farrukhsiyar’s firman was issued in
(A) sasa 9 (A) 1717 A.D.
(B) Saxo s (B) 1720 A.D.
(C) 3990 E S (C) 1730 A.D.
(D) saso e | (D) 1740 A.D.

120. The Second Charter Act s d
120. @@ 56 =IE <P 2 B er was passe

in

(A) Sedo 8 s
Al (B) 1814 A.D.
iy fn (C) 1815 A.D.
) SPEGR A | ' (D) none of these.
121, T8 SO FAR(IS serell 2@ 121. The Harappan Civilization was a
(A) W ECI0) contemporary of
(B) Sy STorel : (A) Sumerian Civilization
©) & el (B) Egyptian Civilization
(D) PR .| (C) Greek Civilization

(D) None of these.

122. MeRE B | _
122. Yajnavalka was a

oS (A) Saint (Rishi)
By T (B) Philosopher
(C) (A) 93t (B) T&¥ (©) Both (A) and (B)
(D) CFOR §H | | (D) None of these.
123. fafpia e 123. Bimbisara belonged to the-
(A) @9 I (A) Gupta Dynasty
(B) cﬁhﬁaa% (B) Maurya Dynasty
(C) =f® Iy | (C) Haryanka Dynasty
(D) RHHE T | (D) None of these.
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b2 KERCEALIC Ry 124. Alexander invaded India during the
(A) bUSY N = PHSIE reign of
(B) 499TWE *HABIE (A) Chandragupta Maurya

©) (B) Dhanananda

(C) Agrammes

(D) CHGE 7F |

(D) None of these.
125. R (Ros) 3@ 29
125. The Battle of Jhelum was fought
(A) *F @2 AEPGISEI & '

between
(B) ST AR ACETPETISTET T - (A) Porus and Alexander
(C) TR G AEFEISIER Ny (B) Ashoka and Alexander
(D) <« (G | ' (C) Bindusara and Alexander
126. REEE-ME IH AGTIE OHS QPIRER (D) None of them.
ol zte 126. Hiuen-tsang visited India during the
reign of
(A) PR B
(A) Chandragupta Maurya |
(B) ¥4~ -
: ; (B) Harshavardhan
(C) TS ores

(C) Nagabhatta II
(D) EWE FT 7 |
(D) None of them.

127. EWH forEw aee

127. Suleiman was a/an

(A) = e (A) - Arab Traveller
(B) FREA *6e (B) French Traveller
(C) ol foa (C) Chinese Traveller
(D) CFINGIE Y | (D) None of these.

577432 6001 L BT.0.,
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128, W (IR sffers SefRE 128. Muhammad Ghori defeated
(A) RS (BIRACE - (A) Prithviraj Chauhan
(B) S e (B) Pulakeshin II
(C) == (C) Harshavardhan
(D) it T T | (D) None of them.

129. ‘¥ I3 2= 129. Iqta was a system of
(A) e T e (A) Land grants
(B) @MY ST ' (B) Religious endowment
(C) = faerd (C) Loan
(D) (R 7 | (D) None of these.

130, 'Y (8 e wefe Gifb == 130. Khudkasht was a category of

_(A) T (A) = peasants
(B) el | (B) 'kings
(C) > (C) nobles
(D) CFHIR 7Y | (D) none of these.

131. T3 @d R, : 131. William Carey was a
A) e , (A) Missionary
B) R (B) Poet '
). et (C) Linguist

(D) none of these.

(D) CPINGIR ¥ |

L3 132. Fort William College was established
132. (&t Saferam sere Ff+e 27

in

(A) svoo &l (A) 1800 A.D.
(B) svos e (B) 1801 A.D.
(C) svox I3 (C) 1802 A.D.
(D) svoo A2 (D) 1803 A.D.

577432 : 6001




133. 7 ICR @9e eafaem
(A) &7 fefoam femfene
; (B) (. FHTIRA IS
(C) coT feresisy
(Dj G (G N |
134, SEM5Y AIGT B
(A) FFHD
(B) baword)
(C) (A) 9= (B) Texd
(D) (PGB §F |

135. of&& (@ APHARE EOER
frafaeEs 2

(A) ST
(B)  sforaret
(C) =ren

(D) (A) @38 (C) T&F |
136. AWE *1fF FEw

(A) N STHET TR AN

(B) AW o] GHEA 4

(C) =TI A

(D) R T 79 |
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133. The Young Bengal was led by

134.

185,

136.

6001

(A) Henry Vivian Derozio

(B) Rev. Krishnamohan Banerjea
(C) James Prinsep

(D) -none of them.

Womesh Chandra Bonnerjee was a

(A) Moderate

(B) Extremist

(C) Both (A) and (B)
(D) none of these.

Gandhiji called for the establishment

of

(A) Ramrajya

(B) Ganarajya

(C) Swarajya

(D) both (A) and (C).
Frontier Gandhi was

(A) Khan Abdul Gaffar Khan
(B) Khan Abdul Wali Khan
(C) Sﬁaist;'.-x Khan

(D) none of them.

[ P.T.O.



137. V To[@r (731 I
() A THofer®

(B) = Wﬂ%&?

() g frmsifers

(D) fEaEs Swefere |
138. W2fgR-ax fw=fb 21

(A) C N6

(B) 23 fopms

(C) > TF

(D) O™ CITHET |

139. 47 0w (@ JRoTSYE wWwA

(A) LT

(B) CoAIS&N
(C) Forere
(D) CRF=AN |

140. SRR THIRRS 251
(A) TIPFG (B)
(C) e

141, ORCSA AN TN ST 2o

(D) G |

(A) S2 AwE WZe
(B) ~ >© A1 12T
(C) ¢ AT N2
(D) CFWEIR JF |
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137.

138.

139. Heaviest rainfall

140.

Gorge is formed in
(A) upper course of a river

(B) middle course of a river

(C) lower course of a river

(D) mountain stage of a glacier.
Date of spring equinox is

(A) 21st March

(B) 22nd December

(C) 21stJune

(D) 23rd September.

in the world

received by

(A) Bangladesh
(B) Cherrapunji
(C) Shillong

(D) Mousinram.

Example of Igneous Rock is

(A) basalt (B) sandstone
(C) marble (D) slate.

141. The maritime boundary of India is

6001

(A) 12 nautical miles -
(B) 13 nautical miles
(C) 15 nautical miles

(D) none of these.

is



- 142, FHyfeTE ei@eT 23

(A)
(B)
(©)

(D)

13 BIET &)
4 BIES Gy
ST BIAA G

Y bIEY &y |

143. O9E 3’51 qafp

(A)
(B)
(©)

(D)

AT A8
ICLICK
AW T TAC A8
(PIGIR AT |

144. N2 OFF 99 Te

(A)
(B)
(€)

(D)

IR (IS
foy Saprg
RERGE

9= |

145. OPEE qoE 9

(A)
(B)
(C)

(D)

|5 7 AR

()
(B)
(©)
(D)
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Sl BE
ERAIRTE]
SN TGE
SrTeemE |

e, WY SRTSA AR |
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142. Black soil is suitable for
(A) cotton cultivation
(B) rice cultivation
(C) wheat cul'-civation
(D) sugarcane cultivation.
143. India is a
(A) Developing couﬁtry
(B) Developed country
(C) Least Developed country
(D) none of these.
144. Rf:sult of greenhouse effect is
(A) inversion of temperature
(B) global warming
(C) industrial pollution
(D) flood.
145. Temperature is measured by
(A) thermometer
(B) barometer
(C) anemometer
(D) seismograph.
146. River of South India is
(A) Brahmaputra
(B) Ganga
(C) Jamuna

(D) " Krishna.

6001
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147.%@?&'@1%@@%-

(A) T
(B) =if* 599G «&(s
(C) Tewm *&ts

(D) ST SR |

'148. TR Twelfex 51 e

(A) HEAE
(B) SRICH
(C) =F

(D) &t e Codl 1 |
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149. (T 24 ...............~ 99 RFHLPS SN |

(A)  CTHIETTEY
(B) @il
(C) wiEw
(D) FoeG |
150. NS A7 ©ISH AeH I
(A) RGO TS S

(B) VR W=BET
(C) ~fowarra TIg w2t

(D) ARSI A TLET |
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147. Royal Bengal Tigers are found in

148.

149.

(A) Sundarban

(B) Western Ghats

(C) Himalayas

(D) Garumara forest.

Main work of a river in its upper
course is

(A) erosion

(B) deposition

(C) transportation

(D) formation of meander.
Polder is the reclaimed lands of
(A) Netherlands

(B) Germany

(C) Austria

(D) Scotland.

150. Rich deposits of minerals are found in

(A)
(B)
(C)

(D)

Chota Nagpur plateau
Sundarban region
Plains of West Bengal

Mountain region of West Bengal.
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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fSC7*1 / INSTRUCTIONS
( IFIRFICA 2% 8 A" %4 / Read carefully and comply )
@%9%f / IMPORTANT

B idla culoiyel AbiE Fata Fy AW Sta wiehiv #16 (ASwg wevR) Bfefwebare Py oo |
At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's
F;:'ttionl to the Invigilator. ;

SIIco 8 B o Wiy — qien, Bl TR, @erl, oftm, Fewrl, ere wdt T evere ey 30 e wnw ofwdie o

HIEwASE TP 2N o feria 30 fb e @a s wof s fadty er weet 30 b evas, b oo  evaw Tww fre 2

In Section-II, there are 8 languages — Bengali, English, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 guestions, The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and
the other as Second Language having 30 questions as per his/her application form.

Rl 4 oIt Re@ — [<re19! H(a) - TS @ e aq8 RS9 11(b) - e | 2Tere faenst 60 © om wmm | G WEE-
g FAE (P QI AR 5IT FARA |

Seﬁtiup—i]lﬁ {i)s di\ridtgd int-?hrwo srfjc_laio?slr Sectign 1l{a) - Math?r:lhatics & Science ar;;:ll S;:lctic‘;&n I!l]_tbltT Solg:ial Studies. Each section
is_having 60 questions, The candidate has to choose any gne of the sections asg per his/her ication Form.

s z@A (3 fof4 OMR Seaoag fRie 21 o ¢ TR <o | g

10.

i G

12.

13.

14.

The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed place in the OMR Answer Sheet.

ﬁﬁwﬁmmf 9% OMR BEI#[Ee AL | (U 8, 138 14 978 o g U 1, 3 932 4-9 oG GG o I | T Aol e
Wﬁ}’\i 9°1 0o €% FP SIS ST e T IS WTEE 9 ORI OMR ©6 q g T4 Y @foa Wit wemE e Seiw aéna)
Read all the instructions carefully and fill the details in S1. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and S1. Nos. 1,3 & 4
in the Question Booklet, If you fail to fill the details and sign as instructed correctly, you will be personally responsible for th:
consequences arising during scanning of your OMR Answer heet. A
o g ffi We OMR FeaeiE A T

OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

spo(fFaT NG 84 P @at 150 B om Wt | epaoifuwl (eI T oneura o oifwd i@ e erreffe (e SFrmIa
24erd epaoffyer 150 b op @ar RT3 (YT 80 WY (&1 ey Ve |

The Question Booklet comprises es having 150 questions. After being instructed to open the Booklet then only the candidate will
open the Question Booklet at the imﬁzgtcigace. Check whether the Booklet contains 150 questions starting from No. 3 to 80.
Haf 2 e | ool Y b TGas (0% WG AW 1| Gl SAH T (Reeive i FAl 2o A

All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wrong answers.

@ AT (P SUTS GO AP, AR GRS 2 A1 | [ AIH GHAENA (T AN I 20 Al fawe @ /et 1a)
@4t [11(b) At @ BTSN WATCH 21N S | @ ST SHUPTS WHNGH] AT BTG WAMISE PO 6T 431 T |

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
question/s during the examination. Section-I and Section 11l{a) and IlI{b) are printed in Bengali and English versions. In case of
any factual discrepancy the English Version will prevail. :
(T Gl ST FA0S T LS T 29 o Fare T | ojpifbee iR (e fGgEa A1) (v SfefieE e (el =W Al
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Buak{et‘ No additional paper shall rnviged.

A% (B, FNPELH, JRG T4, (NRIRET (P, (o8, CIEA WA S (I SEET W IREEE SRS (R8 | @8t
orls ARG S A WA TE CAE T LW '
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not
allowed. Their use will result in disqualification of the candidate.

] 3 A WEM FE OMR TEI@ (6%l 29 |

OMR Answer Sheet will be provided separately along with the Question Booklet.

s d] ersifrel waz OMR T@as@ (AT opyo(fisR] 04t OMR TERoCER Ffed W Reqaetefor o wavee | eroffisel faret smeat ey e
o W | Fre Tcab i ey iy smefve e | enioffoel (YR o ARmd) SRR T I (A (1 el (I et W
ﬁhﬁﬁfﬂﬂ@ﬁftﬁ@;mamﬁmﬂﬁm@mm@ﬁm.mmwmtmﬁhﬁfﬁm‘mﬁmmwm|

After ion Booldet and OMR Answer Sheet are issued to the candidate, the candidate must fill in all the entries in the Question Booklet and OMR

Answer Sheet. The Question Booklet is sealed by a reverse jacket. The candidate has to tear open the jacket at the indicated place in order to open the
Question Booklet. Alfter opening the Question Booklet the candidate should ensure that any d;qlueation is not misa’m%‘,l not printed [ tom /
;e%;%ed. In case you find any defect anywhere in the Question Booklet; immediately inform the Invigilator and get it replaced by him, J

TR I A3, (9 (PTG, ere(s{fau] e A, Caifl, forer, eferd o, fa@m O, AT R, s o @3e o ol
g OMR Tegoad fafld W e T
Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-1, Language-Il, selected
Subject Group, Date of Exam and his/her Full Siglaiure in the space provided in the OMR Answer Sheet.
oere 003 % 4 B B TE A, B, C 49 D WG e Bizs a1 wig | ool ent Ty R g @3t womr e it B9 W 2w o e
a4 | WORTE Taal oWe OMR BegoTE AD qaf sl w1 o e sew ) Biere wua e @weEla SN 39 ATFS O AR T
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to you is correct. Indicate your answer by darkening the a propriate circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use black point pen only.

e oafe 3% | CORRECT | ©#1 *1%f%® : e /| WRONG G | WRONG F | WRONG T | WRONG
COfrecimethod: ®@®O00 Wrong method : m@@@ g@@@ A0 0O [ XX Xo)

@ 209 QST ReTIR oI (i ALCEA T4 5o1d Al |

Once a questign i swered, no correction is permitted.

OMR %mwmﬁm'm%w@mﬁgommwmﬁmﬁﬁmqmwm

W W (TR 91 AY] XA A1 | GF T P w6 A AR @ T | -

OMR Answer Sheet is designed for computer evaluation. II you do not follow the instructions given above and shown in the OMR Answer

Sheet, it may make evaluation by computer difficult. Any resultant loss to-the candidate on the above account shall be of the candidate un]%a
@1 A1 QG A O AT SR T IO GG (AT | HAF] O Zeon ATl o o{f5er A oMR Swwom &9 .

T 38 BTSTEEhEd (X O Aefih #ned aeif cre N e |

No candidate is allowed to leave the Examination Hall before the final bell. After comlﬂetinn of the examination the candidate should hand

[nrvocr mc ?H};ﬂﬁnswer Sheet along with the Question Booklet to the Invigilator and he/she will take back his/ her portion of Admit Card
m the Invigilator.
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